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Group-A i (i) Utility

@ — QuIs!
Answer all questions serially. QAL
gAIgEER anNg g99 aes Qa | (iii) Exchange value of a commodity in

1 Write the correct answer choosing from the terms of money

P alternatives given in each question : 1x15=15 e ZIQRER gia SFaa QR
" QSRS ISR SeenIes Aup A0 ARAY S (iv) Amount of other commodities in

s : exchange of a commodity
(a) Which of the following is associated with

micro-economics ?

aoage ug 69eE 948 mfieie ae a°ge ?

(i) Theory of income, output and
employment
og, @91 8 99 09

(i) Theory of economic growth
plchoa UGeR 04

(ili) Theory of consumer behaviour
RO6eRI8Ia 99% 69

(iv) Theory of general price level
QUGS TEIRR G9 9F

(b) In economics, price means -

21591g6% 99 2 :
(i) Valueinuse
QIRIeR

Economics (Arts/Sc.)(Set-A) 2 Contd.
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(c)

caITa 94 ANaEa AN 96l agaia

What is the value of elasticity of demand if
quantity demanded of a commodity is 10

units at price T 5 and quantity demanded is
9 units at pricet 6 7

g% oa 5 OFl 2QIELER 9N SN aaqiE
10 9ae 9e* 9o 6 66 YFIETER SRS Qe
0 Ya@ 29, 666e RVIa UERIIWRT 6w 7

(i) 1

(iiy 2

(iii) %

(iv) none of the above

Q0SRYe 6FadT qes

Economics (Arts/Sc.)(Set-A) 3 P.T.O.
717 R/ 717 E/ 717 DE



(d)

(e)

Emnumiqi{gg&.}igﬁ-ﬂ} 4 Contd.

Opportunity cost is
BaE OG0 6968 :
(iy expenditure incurred in available
opportunity
QORE BREEE AR SHa
(i) income foregone in the next best
alternative use
gaee acien See geaIeq SBC 214
(iii) pain and sacrifice undergone by the
producer
QQIeeRIal AGRS IS Qael 8 49
(iv) expenses of a producer
QIeeIIRe Sk
When marginal revenue is less than average
revenue, what happens to average revenue?
COEEERER QIRIe Bk gaea avog *7 %
gaIal e @6 621G 7

(iy falls
FQ ard

(ii) rises
Q& ard

(i) remains constant
20 eee

(iv) none of the above
QaGaus 6Madc ged

717 R/ 717 E/ 717 DE

(f)

(9)

Which of the following is a feature of
monopolistic competition ?
Gofee Auq 69US RRIRIGANSR GUERIGSIR
GEaaY ?
(i) one seller
401G F6TT]
(i) product differentiation
QUG TERWRE]
(iii) restriction in entry
JeaEER QTRE!
(iv) single price
999 OQ

The reward obtained exclusively for entrepre-
neurial function is called :

coee GEIETS SNera IR Agee aREeBeg
gRiad :
(i) gross profit
6RIE AR
(i) normal profit
Jeies Qs
(i) abnormal profit
ZQRISe AIE
(iv) none of the above
QUBRC CRIEEE Q6%

Economics (Arts/Sc.)(Set-A) 5 PT.O
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(h)

(iv) rent
o8
(i) Whatis Gross National Product at factor cost
it Gross National Product at market price is
= 6,501 crore, indirect 1ax is * 580 crore and
subsidy is T 272 crore ?
E]G‘ coln QO6S 6RIE QPR aglW 6,501 6al@
oo, aeqim @a 580 6RIE o@l 49° daRial
q@mm 272 gale oSl 4, VYLF SHHea LD
RAPID QT 6RET ?
(i) 6193 crore
6193 62T =l
(i) * 5649 crore
5649 6qIT ol
Economics (Arts/Sc.)(Set-A) 6 . Contd.

Which of the following is not the element of
gross interest ?

QORYe PrIg 6RWS 6AIT QU QQIDIe QY ?
(i) reward for risk taking
300 QuaRne Qs
(i) netinterest
Ge qu
(iii) reward for inconvenience
ageuIehe alael

717 RI717 E/717 DE

(iii) * 6809 crare
6809 siv &I

(iv) = 7353 crore
7353 6QI© o=

Net value-added at market price is :
QRI0 S96H F6 9EAITEC ARY CLR :

(i) Value of output — Intermediate
consumption + Consumption of fixed
capital

QQIE 99 — 2ade ausais + Bial 99
QueRIg

(iy Value of output — Intermediate
consumption — Consumption of fixed
capital
AQIRS R — 2AGE AT — 11 Q&R
elalasily

(i) Value of output + Intermediate

consumption — Consumption of fixed
capital

QYIS RN + 2R AYeNIe — Qi QFa
QOERIS

(iv) nene of the above
A0GRYe cRlade gew

Economics (Arts/Sc.)(Set-A) 7 PTO.
717 R/7T17 E/ 717 DE



(k) Which of the following is a part of National
income ?
PORGS NG 6RUE SITIA SINR 9@ 29 ?
(i) old age pension
=T ]
(i) income tax
2RSS
(iii) compensation of employees
RODINE BEYRE
(iv) income from lottery
mesag AL
()  Which of the following is not a function of the
Commercial Banks ?

POAge fug 6690 QIETIR NSNS Iy

e

(m) What is the compulsory contribution called
which is levied in proportion to the special

benefit received from the government ?

QORIQFOIQ AgES G688 garl I 2gaIeeq dlidy

LUUAIRNES QRITINFS Q] '4 gRIAN ?
(i) licence fee
 [ieeara &q
(i) tax
@9
(iii) fee
aq
(iv) special assessment
goa GaIee
Which type of budget creates inflation ?
696 ORI G6RY 0Q I1T 9eUIe.-FRaId ?

Q6% ? : i
(i) acceptance of deposits 1 (0 ;:;:: 2:;§Et
SFl 924 | 1
(i) advancing of loans | (i1 S;‘;?h:i;:dge‘
{.‘I I £
?ﬂa i (iii) Capital budget
(i) issue of notes R
. aaiR Qm ) (iv) Balanced budget
(iv) creation of credit Rn Beae
a8 98 ‘
Economics (Arts/Sc.)(Set-A) 9 P.T.O.
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(0) Which of the following is included in non-plan
expenditure ? 5
SORYE ArIQ 69UE ZIGEAING! OR 2BYS 7
(i) expenditure on economic services

- PIER1Re 6URIEa 4
(i) expenditure on social and community
services
AIFER @ 69191 6ATIEE MG
(iii) subsidy
Jdamiel 99190
(iv) grants-in-aid to States
QAT 2R
2.  Examine the correctness of the following
statements. Correct them, if necessary, without
changing the portions underlined : 1x15=15

fORde WBgeaa Q0o Q918 K9 | ALK F6R,
CRSIEe ZE0 O0Ras § @6, 699Fe QGalRIT @6 !

(a) All economic goods are Capital.
apg 212etea 9oy 9 |

(b) If price of a good is expected to rise in near
future, people will buy more of it.

g9 QI 946 90 GRC NRUYeER 9F 69919
JRISE 2, 606@ ERIFFIEE 4RIG NS KL

2069 |
Economics (Arts/Sc.)(Set-A) 10 Contd.
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(d)

Perfectly elastic demand curve is vertical.

and §8Q10% 8T 626l AR CRIBAN |

Under perfect competition there is no
distinction between firm and industry.

gé g06QIG6I60 gBaIE 8 88 Au6R 691618 aiZiey
@ and |

(e) The technical relation between quantities of
factor inputs and amount of output is known
as cost function.

| MEGEes ORFIE 6 QYO8 949 UONIE)
(2160 291 69ade ANeq OB TRE QRIAI |

(f)y Average variable cost curve looks like a
rectangular hyperbola.

A28 0G981 GME SREEN 19 BSIKS
AR Q99 9SS 94 |

(g) The difference between total revenue and
total cost is called net interest.

E91IE ZiF B 6AIE DE9YeR 2R Teq BF Qv
@I |

(h) Realwage increases with rise in prices.

Q9L IR 99 98 ALe ¥ QIRA |
Economics (Arts/Sc.)(Set-A) 11 P.T.O.
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(k)

()

(m)

Economics (Arts/Sc.)(Set-A) 12

Consumption of fixed capital is a part of Net
National Product.

291 980 aUsag 76 FI918 a9 99 &g |

Gross National Product is equal to Gross
Domestic Product, when net factor income
from abroad is negative.

CUEEEEER QEAEINE 7S ARG AE QSIS W9,
COERERER ERIT RGN G919 CAIT AEGIE WY
QEe QaIe 94 |

Unemployment allowance received from the
government is an exam ple of transferincome.

A9RIET0Ig G898 SRS coRIE 6l 224
206 498 ALIEad |

State Bank of India is the lender of last
resort.

QIQ01A 699 SIS 2IRp 98198 98 QG |

Price is an administrative revenue.
9 99 94IAte QR |

Expenditure on an irrigation project is an
example of capital expenditure.

1@ GRECER 88 S48 9 QuEe Y9 LU |

Contd.
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(o) Current account deposits cannot be
withdrawn before the expiry of the stipulated
ime peri
008 PAIQ SRIGe 909 999 999 06 Q5 99

i

ol |

Group—-B
8~ QeI
Answer any eleven of the following questions
within two to three sentences in each case :
2x11=22
g66ua 68G6a AT F/e =IeY A6l faade
geaIRe AuQ 6acAIad 1aIede aaa G

(a) What are the central problems of an
economy ?

9@ 218 LU CARIA AAAIFES 9’8 ?

(b) What do you mean by ‘public goods’ ?

‘g8 QUY’ QRER QR @'a 9] 7
(c) What is National wealth ?
Qi1 9ne @' 7
(d) What is money cost ?
crlGe OGRiD @' 7
(e) Whatis oligopoly ?
2RIRIG @67

P.TO.



..

(f)

o g )

(h)

(k)
0

(m)

(n)

What is the relation between Average cost
and Marginal cost ?

QQEa 9aein 6 Qe ateua AUER QAR
@8 7

What is monopoly profit ?

EOITY QISUIE AN /67

What do you mean by net exports ?

76 99N UER G671 @6 Qe ?

What is personal income ?

MBAC 2D X'E 7

What is macroeconomics ?

and 2aae @6 7

What is meant by ‘circular flow of income’ ?
‘Fiaq el geie’'e 2d /' ?

What is public finance ?

QEID T8 @8 7

What are the general utility functions of the
Commercial Banks ?

QIEtIe QUSYENa ARed QARINEINSS
Quiem @'6°?

What is non-developmental expenditure ?
2IGARARSR QA @87

Economics (Arts/Sc.)(Set-A) 14 Contd.
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4. Distinguish between any six of the following. Limit
your answer to six sentences in each case :
3x6=18

Baffic AiQ 6A6REA S2IT AER Q1T Q4B | G6GIe
CEGER $NIR ARG 825 QRNEa QTG GRS IR

(a) Intermediate goods and Final goods
PRdEN Q9 6 289 9

(b) Change in demand and Change in quantity
demanded

glaola OBees G 9IRe RIS 9BRes
(c) Fixed cost and Variable cost
da oGeue 6 ateel 9ReYR
(d) Market price and Normal price
CRIR. ] 8 gINCe 96
(e) Nominal GDP and Real GDP

GRS 6AIGR QERIR YD B 6AIT FAT U6IR
Qg

(f) Money and Near money
g 6 B9 g9l
(g) Normal profit and Abnormal profit
Qs AR 6 AYRNSR QI
(h) Balanced budget and Unbalanced budget

QRGN 96T 0 2QFIGR Sews]

Economics (Arts/Sc.)(Set-A) 15 PTO.
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10.

Group-C
o — Q@IS
Answer any four of the following questions :
7.5x%4=30

POREE g9aIes FaQ CREREE cleaida aeg O
Describe the characteristics of human wants.
AIPR1E FRINE cT9RIgee edn e |

Explain the law of Diminishing marginal utility.
FEFEAIS AT QLERITSI 8 UIHY F9 |
Explain the law of Variable proportions.

J0es! 2A9AIC 99 ISl 9F |

Explain the Ricardian theory of rent.

QTNEEIT PEID OF NI 9@ |

Discuss the Keynesian theory of income
determination.

CRRAE 2D PRI 0F ZICRISR @9 |
Describe the functions of money:.

J9Ia ISR 94F F9 |

mics c.(Set-A) 16 Contd.
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SECTION - B
(As per 2011- 2013 Syllabi)

Carefully follow the instructions given in each Group.
FERNE GRIass a8 JFeedgen ape 990 9iee 0 |
The figures in the right-hand margin indicate marks.
@Fe O/f FIFEER FRI8 9PF 6TRSE 1
Group - A
@ — GaIg
Answer all guestions serially.

FAIGHER N 990 AR 98 |

1. Write the correct answer choosing from the
alternatives given in each question: 1x15=15

g694e g9 gea GRenee fAup Ale @eed QF
RS
(a) Utility means :
ROcQITS! 28 :
(i) Usefulness of a commodity
PG QTSRS
(ii) Pleasure derived from a commodity
Qeug Qe aIee
(iii) Want satisfying capacity of a commodity
TR 2EY PR FINR FAG)
(iv) Money value of a commodity

LR 6Flem gy

mics (A NSet-A) 17 P.T.O.
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(b) Which of the following is wealth ?
PORGE AAQ cRaT Ao 7
(i) Good health
Qe QIey
(i) A five-rupee note
f6d QELFE 61T
(iii) Matriculation certificate
. AIEYERAR ARdeRs
(iv) Wrist watch
A QF

(c) Which of the following is an example ch
conventional necessaries ?

GONYe NUQ 69US JSMRAISS JBITHNDR 99

QTG 7
(i) Agood house
4@ Q8 QIage
(i) Expenditure on marriage
o 919 99
(iii) Electric fan
Qge aen
(iv) Book for a student
21§ QIel gae
Economics (Arts/Sc.)(Set-A) 18 Contd.

M7 R/7T17 E/717 DE

(d) If quantity demanded of a good rises by 20
per cent due to a fall in its price by 40 per
cent, elasticity of demand s -

9% 99ia 99 40 gBEe 21g coq 6RIg e1RiIn

~ OReIR agne 20 9690 98 94, oiteig Eafla =
699 :

(e)

(1)
(i)
(iii) 1
(iv) 0
What is the shape of a total fixed cost curve? |
@ 6019 8@ afieve 6asia Ziaig @ae 7 I
() Upward sioping
ageia
(i) Downward sloping
FeISeN ’
(iii) Horizontal ' !
2Igefa {
(iv) Vertical |
zlat]

2
A
2

‘fﬂm%s Arts/Sc.)(Set-A) 19
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(f)

If a seller sells 10 units, 20 units and 30 units
at a price of T 10 per unit, what will happen
to average revenue (AR) and marginal
revenue (MR) ?

oo qea Segel 10 om1 @aea 10,20 6 330G uaw
G0 Q0% 66T VTR BIA B AT A Q'8
6E9 ?

(i)  will remain constant

20RSR0 98
(ii) will increase
PR 629
(iii) will decrease
gid QL

(iv) none of the above
Q0dawe 6Wede ged
Price prevailing in very short period is
called :
20 QEQIRER J9F6 Qag guIaid :
(i) Normal price
QIRITE 96
(i) Market price
QTR IR
(iii) Ideal price
ZIed 99
(iv) Stable price
da ol

J(Set-A) 20 . Contd.
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(i) Money wage remaining constant, if price level

Economics (Arts/Sc.)(Set-A) 21
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(h) Which of the following is not a feature of
monopoly ?
DONYE ARIY 6RRT IQINRITR U] CTTFY Q6 9
(i) One seller

QIE FEne|
(i) Many buyers
QgA'Ie 693
- (iii) Free entry
2SR g6e4
(iv) Absence of close substitutable goods
Gac goRIgRan 9ee AgoEe

decreases, what happens to real wage ?
sﬁl;g‘q Aga 80 cR, 99 98 98 ¥1Q A, 9199
g9 Q'€ 99 7
(i) Increases
95 29
(i) Decreases
19 a1
(i) Remains unchanged
2IORTR0 662
(iv) None of the above
RN 6NOTT Qew




(jy If GDP at market price is * 10,000 crore, net
factor income from abroad is * 500 crore and
consumption of fixed capital is t 2,000 crore,
Net National Product at market price is 1.
g% ooIa 0a6a 6AIe asaia agie 10,000 e 0
oo, BeeaIee Qe e 500 691F o B Qi

gFa ageaig 2,000 6917 6@ 29, 6069 &Y

I8 RQIQ 699 :
(i) 7,500 crore
7,500 6913 G
(i) * 8,500 crore
8,500 6x1& ¢!
(iii) * 12,500 crore
12,500 626 o=

(iv) = 13,500 crore
13,500 6@I5 oI
(k) Which of the following is not concerned with (m)
macroeconomics ?

Gafige fug ceuc 208 BET Q86 Qg RASER FIRYE MISTAINT AUQ CRaE 2aa
acd 7 aLDE a8l QeI 7
(i) Aggregate employment (i) State Bank of India
QINER TEAITE WIRSIA €4 Qe
(i) National income (i) Central Bank of India
I B AR Qe ag ada
Economics (Arts/Sc.)(Set-A) 22 Contd. ©  Economics(Arts/Sc.)(Set-A) 23 PT.0.
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(iii) General price level
QARINE 0@ 2%

(iv) Determination of price of a factor
4@ QRIFA 99 FEI9Y

Which of the following is not a function of the

Commercial Banks ?

OARYS NUQ 62T QAR SITIeTa @Iy

q6e ?
() Acceptance of deposits
@0 goe

(i) Giving loans to the general public
QARARIRAG B8 G

(iii) Control of credit
ad faaa

(iv) Discounting the bills of exchange
SRA0 989 AR

Which of the following banks in India is the

lender of last resort ?

e T




iii) Reserve Bank of India .
(iii) 2. Examine the correctness of the following

QAGIR TR0 NIF .
: statements. Correct them, if necessa ith
' Bank . , r ry, without
(iv) E:;igg?gﬁ?e changing the portions underlined :  1x15=15
(n) Which of the following is a source of revenue - BaRGie aﬁqﬁ“a@ 969@' SISl SR BN d6s,
ol the Goameatel Sk CORISE 2r9R OR9E0 ¢ &5, 6AgRe TEaINR og -
FORGIC FRIQ 6REG SINE ORDE IBG IR WA 7 (a) Principle of exclusion ies to public goods.
i) Income tax s =
(i) o4 3 : g6 994 gl @8R4 416 ggey |
(ii) Customs duty (b) Downward sloping demand curve i dicate
i ESIELEZ e direct relation between price and quantity
m : dem
6Q91 Q9 ' :
(iv) Al of the above £2elIN 90l 694 98 ¢ 9Fe 08I Aca 2oy
ROGNYS 903 ‘ _ o4 aNeQ 9en! 9 |
(o) Which of the following is included in capital
expenditure ? (¢) Demand for a good havin alternative uses
RORYS g 6996 & 409 2egs 7 is relatively inelastic.
i) Salary of a government employee a =
¥ mamg mﬁ@ag'am- ERER f'fﬁg =1SHA 491 9919 9ikel 2608190 2i6-
(i) Interest paid on government debt el
qgmaq'@;ﬂ #lg e ﬁ_alﬂlﬁaﬁqﬁﬂ (d) Valueofa commodity expressed in term
(iii) Expenditure on national highways ‘money is called wealth.

Q1019 QIFCa QIS UG ' }
{w} e gl'ﬂntﬁ- LG flnt 991 2FIEE gl SHAGER IR Aag

daRial Agele ' R |

: -A 24 Enntd . . y
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(e)

(f)

Expenditure incurred by a firm on raw-
materials is an example of fixed cost.

qéale Qe @8I0IR 98 QIeel &9 §9
ATUAR IR RI90E |

Under perfect competition, marginal revenue
is less than average revenue.

Qd 9R6QITiesa A1AIS G QLIS ANA0IG A |

(k) Atthe equilibrium level of income aggregate
demand is equal to aggregate supply.

QFne 2iE E6ER AR BT QIR 6RI9Ig 9B

anie |

() National Bank for Agriculture and Rural
Development (NABARD) s the Central Bank

(g) Only reproducible goods have normal price. mm' :
090 ORIAgIeR0 99ie YRGS 99 &N | ®IGTE 99 8 gINY R0 M@ (RIIE) seal 2ig
(h) Wage is a residual income. m ‘ .
g8 4Q 2FEETIAN 2L | (m) m;ﬂimhe income
(i) Imputed rent of entrepreneur’s own building _:D__l;i_ nment.
is a part of net profit. SISI9 99 AANIGT G 6 940 986 ARY |
RENIBISE B8 920 2ICAITE UNEHS FY AN (n) Income from public enterprises is an
qg 2°8 | : administrative revenue.
(i) Gross Domestic Product is equal to Gross gaRia] QEMIOQ 218 99 gaI9Ee Qieg |
National Product when net factor income from (0) Surplus budget is one in which s
abroad is negative, €xpenditure is greater than anticipated ;
6UIEOERER QEREINE FE Qe 2B aaine 29, revenue. .‘
E?EG‘EG‘GE? 6016 Q6N VYIQ 6016 L1919 BgIQ ok R cR6% @191 608760 0% 64 ey ’
gee QaIe 94 | 2190/g 21g | |
Economics (Arts/Sc.)(Set-A) 26 Contd. Economics (Arts/Sc. A 27 |
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Group - B
& — I

Answer any eleven of the following questions

within two to three sentences in each case :
2x11=22

g6oIa 69G6R gRFY FFF QRN AUER RQAEe
QEenAING FRIG 6D6@IaA YAIOTE AR WA !
(a) What do you understand by Giffen goods ?
GETH Q9Y FEEm 6N @'E 98 7
(b) What is demand schedule 7
SE 991 @' 7
(c) What are necessaries ?
ASIRFRS @8 7
(d) What is time utility ?
QFEIe AUERITE |@'a ?
(e) What is explicit cost 7
gaye aoeys «'4?
(f) What is pure competition ?
g® geeaigc @'a 7
(g) Whatis net interest ?
fe qu e'ar?
(h) What is normal profit ?
JeEe RN K467

(i) What is domestic product ?
qeqls a9 @'a ?

(j) What is transfer income ?
2R 2IY @'a ?

(k) What is near money ?
79% gl '@ 7

(I} Whatis tax ?
AN 2’4 7

(m) What is developmental expenditure ?
ARAGNEe NG @'a?

(n) What is budget ?
QEEE @'Q7?

Distinguish belwe!an any six of the following. Limit
ycpr answer to six sentences in each case -

& . 3x6=18
Eﬂm AR 6A6ANAR 22T aca Qide ozl | geoie
BEED $AR AEG £25 Q469 QiFie aoe) Il =

(@) Free goods and Economic goods
98 QN 6 IEdeoe ooy

(b) Change in d [ '
demag emand and Change in quantity

PRTIQ OGee 8 OFG adq 60 Joeae

ContdEC0no i C.)(Set-A) 29
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(c) Gross profit and Net profit Explain the law of diminishing marginal utility.

. 6qie aIe 6 8¢ AN GARIEAIR IS ATELITO G YIS a9 |
(d) Personal income and Disposable persona B.  Explain the Ricardian theory of rent.
incr:‘ome y SRIERIT ZXEES 6 MM 9 |
QB0 Zig @ QF_QGLI @*@?9 el : ' 3. Explain the output method of calculation of
(e) Demand deposit and Fixed deposit National income.
@iee eq 6 Az 29 [T QECEE IV 2D O YIS 9 |
(f) Direct tax and Indirect tax 0. Describe the functions of money.
geia @8 8 U6aIs 99 918 FIduee! 90 ea |

(g) Commercial bank and Central bank
Qe IS B CaRlR M

(h) Plan expenditure and Non-plan expenditure
CRISR MG B AG-6AITT 6,

Group—-C
o - Iaua
Answer any four of the following questions !
7.5x4=3(

S0ade ganee Aug 6acAlad eIeaISa AeG B2
5. Discuss the characteristics of human wants.
AIEDID 299 6Ra9IgER ZIERISR @9 |
6. Explain the determinants of demand.
gRen PAIeRTER SIS 99 |

. LD | Arts/S -5 t'A 3
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